Geometry       Final Exam Review    
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Q is equidistant from the sides of [image: image1.png]


 Find [image: image2.png]m-RST.



 The diagram is not to scale.
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	a.
	25
	b.
	10
	c.
	20
	d.
	29




____
2.
What is the name of the segment inside the large triangle?

[image: image4.emf]
	a.
	perpendicular bisector
	c.
	median

	b.
	altitude
	d.
	Midsegment




____
3.
Find the values of the variables and the lengths of the sides of this kite.
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	a.
	x = 9, y = 13; 7, 15
	c.
	x = 9, y = 13; 11, 20

	b.
	x =13, y = 9; 7, 15
	d.
	x =13, y = 9; 11, 11




____
4.
What is the most precise name for quadrilateral ABCD with vertices A(–5, 2), B(–3, 6), C(6, 6), and D(4, 2)?

	a.
	quadrilateral
	b.
	rectangle
	c.
	parallelogram
	d.
	Rhombus




____
5.
ABCD is a parallelogram. If [image: image6.png]m~CDA = 66,



 then [image: image7.png]miBCD=_2



 The diagram is not to scale.

[image: image8.emf]A B

D C


	a.
	66
	b.
	124
	c.
	114
	d.
	132




____
6.
Find AM in the parallelogram if PN =9 and AO = 4. The diagram is not to scale.

[image: image9.emf]M N
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	a.
	8
	b.
	4
	c.
	9
	d.
	4.5


Find the area. The figure is not drawn to scale.
____
7.
[image: image10.emf]7.6 cm

3.7 cm


	a.
	[image: image11.png]



	b.
	[image: image12.png]3.9 cm?




	c.
	[image: image13.png]11.3 cm?




	d.
	[image: image14.png]24 cm?








____
8.
A grid shows the positions of a subway stop and your house. The subway stop is located at (–5, 2) and your house is located at (–9, 9). What is the distance, to the nearest unit, between your house and the subway stop?

	a.
	5
	b.
	13
	c.
	8


	d.
	18




____
9.
A triangle has sides of lengths 12, 14, and 19. Is it a right triangle? Explain.

	a.
	yes; [image: image15.png]122 + 14?7 = 192




	c.
	no; [image: image16.png]122 + 14?7 = 192





	b.
	no; [image: image17.png]



	d.
	yes; [image: image18.png]






____
10.
Find the length of the leg. If your answer is not an integer, leave it in simplest radical form.

[image: image19.emf]45°

16

Not drawn to scale


	a.
	128
	b.
	[image: image20.emf]8 2


	c.
	16
	d.
	[image: image21.emf]2 2




Find the area of the trapezoid. Leave your answer in simplest radical form.
____
11.
Find the area of the rhombus.

[image: image22.emf]8 m

8 m 8 m
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	a.
	12 m2
	b.
	4096 m2
	c.
	128 m2
	d.
	32 m2




____
12.
Find the area of the regular polygon. Round your answer to the nearest tenth.

[image: image23.emf]10 in.

13.07 in.


	a.
	176.6 in.2


	b.
	966.1 in.2
	c.
	80.0 in.2
	d.
	483.0 in.2




____
13.
Grade 7 students were surveyed to determine how many hours a day they spent on various activities. The results are shown in the circle graph below. Find the measure of each central angle in the circle graph.

a. Sleeping

b. Eating

[image: image24.png]How Students Spend Their Time
Watsting TV Sorializing

13% 13%
Homework
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Esting. School
3% 25%
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3%




	a.
	118.8°; 28.8°
	b.
	108°; 28.8°
	c.
	118.8°; 288°
	d.
	59.4°; 288°

	
	
	
	
	
	
	
	


____
14.
Identify a semicircle that contains C.

[image: image25.emf]A B
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	a.
	semicircle ABC 
	c.
	semicircle CB

	b.
	semicircle AC
	d.
	semicircle ACB


Find the circumference. Leave your answer in terms of [image: image26.png]


.
____
15.
[image: image27.emf]18 in.


	a.
	[image: image28.png]


 in.
	b.
	[image: image29.png]36T



 in.
	c.
	[image: image30.png]


 in.
	d.
	[image: image31.png]3247



 in.


____
16.
Lenny’s favorite radio station has this schedule: news 13 min, commercials 2 min, music 45 min. If Lenny chooses a time of day at random to turn on the radio to his favorite station, what is the probability that the news will be on?

	a.
	[image: image32.emf]13

45


	b.
	[image: image33.emf]3

4


	c.
	[image: image34.emf]1

30


	d.
	[image: image35.emf]13

60



	
	
	
	
	
	
	
	


____
17.
The Sears Tower in Chicago is 1450 feet high. A model of the tower is 24 inches tall. What is the ratio of the height of the model to the height of the actual Sears Tower?

	a.
	1 : 725
	b.
	725 : 1
	c.
	12 : 725
	d.
	725 : 12


Solve the proportion.
____
18.
[image: image36.png]



	a.
	[image: image37.emf]1

25


	b.
	5
	c.
	[image: image38.emf]1


	d.
	25


____
19.
On a blueprint, the scale indicates that 6 cm represent 15 feet. What is the length of a room that is 9 cm long and 4 cm wide on the blueprint?

	a.
	22.5 ft
	b.
	1.5 ft
	c.
	6 ft
	d.
	16.5 ft

	
	
	
	
	
	
	
	


____
20.
[image: image39.png]ABCDE ~ GHJDF



. Complete the statements.
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	a.
	[image: image41.png]


[image: image42.emf]

	b.
	[image: image43.emf]AB GH
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	a.
	[image: image44.png]


; DC
	b.
	E; AE
	c.
	E; DC
	d.
	· ; AE


____
21.
Are the triangles similar? If so, explain why.

[image: image45.emf]84.6° 84.6°

30.4°

65°


	a.
	yes, by SAS
	b.
	yes, by SSS
	c.
	yes, by AA
	d.
	No



____
22.
Use the information in the diagram to determine the height of the tree to the nearest foot.

[image: image46.png]1448t
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	a.
	80 ft
	b.
	264 ft
	c.
	60 ft
	d.
	72 ft

	
	
	
	
	
	
	
	


____
23.
SKIP
The figures are similar. Give the ratio of the perimeters and the ratio of the areas of the first figure to the second. The figures are not drawn to scale.
____
24.
[image: image47.emf]15 18


	a.
	5 : 6 and 25 : 36
	c.
	5 : 6 and 36 : 49

	b.
	6 : 7 and 36 : 49
	d.
	6 : 7 and 25 : 36




____
25.
Write the tangent ratios for [image: image48.png]


 and [image: image49.png]


.
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	a.
	[image: image51.png]



	c.
	[image: image52.png]


 

	b.
	[image: image53.png]



	d.
	[image: image54.png]





Find the value of x. Round your answer to the nearest tenth.
____
26.
[image: image55.emf]x



7

Not drawn to scale


	a.
	3.5
	b.
	12.1
	c.
	6.1
	d.
	4


____
27.
[image: image56.emf]9
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Not drawn to scale


	a.
	3.3
	b.
	3.1
	c.
	24.7
	d.
	8.5


Find the value of x to the nearest degree.
____
28.
[image: image57.emf]x
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	a.
	67
	b.
	22
	c.
	83
	d.
	53


Find the value of x. Round to the nearest tenth.
____
29.
[image: image58.emf]18

x
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Not drawn to scale


	a.
	10.3
	b.
	31.4
	c.
	10.7
	d.
	31.8




____
30.
Viola drives 170 meters up a hill that makes an angle of 6[image: image59.png]


 with the horizontal. To the nearest tenth of a meter, what horizontal distance has she covered?

	a.
	171.5 m
	b.
	169.1 m
	c.
	1617.4 m
	d.
	17.8 m


Find the value of x. Round the length to the nearest tenth.
____
31.
[image: image60.emf]

x

200 m

Not drawn to scale


	a.
	1134.3 m
	b.
	1151.8 m
	c.
	34.7 m
	d.
	203.1 m


Write the sum of the two vectors as an ordered pair.
____
32.
[image: image61.png]


, [image: image62.png]


 and [image: image63.png]


, [image: image64.png]



	a.
	[image: image65.png]


, [image: image66.png]



	b.
	[image: image67.png]


, [image: image68.png]-10}




	c.
	[image: image69.png]


, [image: image70.png]10}




	d.
	[image: image71.png]


, [image: image72.png]





Find the area of the regular polygon. Give the answer to the nearest tenth.
____
33.
hexagon with side 8 yd

	a.
	332.6 yd[image: image73.png]



	b.
	12 yd[image: image74.png]



	c.
	41.6 yd[image: image75.png]



	d.
	166.3 yd[image: image76.png]






____
34.
square with radius 16 ft

	a.
	520 ft[image: image77.png]



	b.
	512 ft[image: image78.png]



	c.
	256 ft[image: image79.png]



	d.
	1024 ft[image: image80.png]





Find the area of the triangle. Give the answer to the nearest tenth. The drawing may not be to scale.
____
35.
[image: image81.emf]4.7 m

6.1 m




	a.
	10.5 m[image: image82.png]



	b.
	9.8 m[image: image83.png]



	c.
	19.6 m[image: image84.png]



	d.
	21.0 m[image: image85.png]





Use formulas to find the lateral area and surface area of the given prism. Show your answer to the nearest whole number.
____
36.
[image: image86.emf]5
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Not drawn to scale


	a.
	468 m[image: image87.png]


; 519 m[image: image88.png]



	c.
	504 m[image: image89.png]


; 512 m[image: image90.png]




	b.
	468 m[image: image91.png]


; 534 m[image: image92.png]



	d.
	504 m[image: image93.png]


; 519 m[image: image94.png]





Find the surface area of the cylinder in terms of [image: image95.png]


.
____
37.
[image: image96.emf]14 cm

15 cm

Not drawn to scale


	a.
	518 cm[image: image97.png]



	b.
	602[image: image98.png]


 cm[image: image99.png]



	c.
	812[image: image100.png]


 cm[image: image101.png]



	d.
	308[image: image102.png]


 cm[image: image103.png]






____
38.
Find the surface area of the cone in terms of [image: image104.png]


.

[image: image105.emf]15 cm

3 cm

Not drawn to scale


	a.
	54[image: image106.png]


 cm[image: image107.png]



	b.
	99[image: image108.png]


 cm[image: image109.png]



	c.
	51[image: image110.png]


 cm[image: image111.png]



	d.
	49.5 cm[image: image112.png]





Find the volume of the given prism. Round to the nearest tenth if necessary.
____
39.
[image: image113.emf]11 ft

7 ft

4 ft

Not drawn to scale


	a.
	308 ft[image: image114.png]



	b.
	301 ft[image: image115.png]



	c.
	298 ft[image: image116.png]



	d.
	312 ft[image: image117.png]





Find the volume of the square pyramid shown. Round to the nearest tenth as necessary.
____
40.
[image: image118.emf]12 cm

12 cm
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Not drawn to scale


	a.
	40 cm[image: image119.png]



	b.
	480 cm[image: image120.png]



	c.
	147.3 cm[image: image121.png]



	d.
	720 cm[image: image122.png]





Assume that lines that appear to be tangent are tangent. O is the center of the circle. Find the value of x. 
____
41.
[image: image123.png]


 12

[image: image124.emf]O
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	a.
	78
	b.
	39
	c.
	102
	d.
	24




____
42.
[image: image125.png]BC



 is tangent to circle A at B and to circle D at C (not drawn to scale). 

AB = 7, BC = 18, and DC = 5. Find AD to the nearest tenth.

[image: image126.emf]A
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	a.
	18.7
	b.
	18.1
	c.
	21.6
	d.
	19.3


[image: image148.emf]6

8

x

____
43.
Find the value of x:
	a.
	8
	b.
	5
	c.
	6
	d.
	10

	
	
	
	
	
	
	
	


____
44.
AB = 20, BC = 6, and CD = 8

 [image: image127.emf]C
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	a.
	18.5
	b.
	11.5
	c.
	19.5
	d.
	15




____
45.
The radius of circle O is 18, and OC = 13. Find AB. Round to the nearest tenth, if necessary. (The figure is not drawn to scale.)

[image: image128.emf]A B
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	a.
	12.4
	b.
	3.8
	c.
	24.9
	d.
	44.4



	
	
	
	
	
	
	
	


____
46.
Find the measure of [image: image129.png]


BAC. (The figure is not drawn to scale.)

[image: image130.emf]A
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	a.
	57
	b.
	28.5
	c.
	33
	d.
	114




____
47.
Use an ordered pair to describe the translation that is 7 units to the left and 1 units down.

	a.
	[image: image131.png]



	b.
	[image: image132.png]



	c.
	[image: image133.png]



	d.
	[image: image134.png]





Use matrices to find the image of the figure under the translation.

____
48.
DEF with vertex matrix [image: image135.png]


 translated 6 units left and 6 units down

	a.
	[image: image136.png]



	c.
	[image: image137.png]D'(3, 4), E'(10, 3), F'(4, 12)





	b.
	[image: image138.png]D'(9, —8), E'(10, —9), F'(4, 0)




	d.
	[image: image139.png]D'(-3,4),E'(-2, 3),F'(-8. 12)






The hexagon GIKMPR and [image: image140.png]


FJN are regular. The dashed line segments form 30° angles. 
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L

G

M

H

N

I P

J

Q

K

R

O


____
49.
Find the angle of rotation about O that maps Q to F.

	a.
	60°
	b.
	330°
	c.
	300°
	d.
	270°




____
50.
How many lines of symmetry does the figure have?

[image: image142.emf]
	a.
	3
	b.
	2
	c.
	1
	d.
	0




____
51.
The dashed triangle is a dilation image of the solid triangle. What is the scale factor?

[image: image143.emf]4 8 –4 –8 x
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	a.
	[image: image144.png]



	b.
	[image: image145.png]



	c.
	[image: image146.png]



	d.
	2
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